BB Black cape

P1 BBB_CAPE
BBB_P8
P8_1 | pGND DGND | P8 2
NC P8 3 |GPIO 38 GPIO 39| P8 4 NC
NG P8 5 | GPIO_34 GPIO_35| P8 6 NG
NG P8 7 | GPIO_66 GPIO 67| P88 NG
NG P8 9 | GPIO_69 GPIO_68| P8 10 |\~
NG P8 11 [GPIo_45 GPIO_44| P8 12 |\~
P8_13 P8_14
NG GPIO_23 GPIO_26 NG
Pg_15 P8_16
NC GPIO_47 GPIO_46 NG
NG — P8 17 | GPIO_27 GPIO_65/ P8 18 |\
NG — P8 19 lGpio 22 GPIO_63/ P8 20 |\~
NG L P8 21 |GPIO_62 GPIO 37| P8 22 |\~
NG P8 23 |GPIO_36 GPIO 33| P8 24 |\~
P8_25 P8_26
NG GPIO_32 GPIO_61 NG
P8_27 P8 28
NG GPIO_86 GPIO_88 NG
P8_29 P8_30
NG GPIO_87 GPIO_89 NG
NG L P8 31 [GPIO_10 GPIO_11| P8 32 |\~
NC—P8.33 | GPIO_9 GPIO 81| P8 34 |\~
NG L P8.35 [GPIO_8 GPIO_80| P8 36 |\~
UARTS_TXD P8 37 | GPIO 78 GPIO_79 BL@
POWERS P8 39 |cpi0 76 GPIO 77/ P840 \s
P8_41 Pg_42
NG GPIO_74 GPIO_75 NG
NG P8 43 |GPIo_72 GPIO 73| P8 44 |\ <
NC—P845/GPIO_70  GPIO_71| P8 46 [\ <
BBB_P9
P9_1 | pGND DGND | P9_2
NC P9 3 lvpD 3v3  vDD 3v3| P94 NC
z P9 5 | vpD_5v vDD_5v | P9_6 &
NC— P97 sys 5y syssv| P98  IR{c
NG P9 9 |pwR BUT SYs RESET| P9 10 |\~
UART4_RXD P9 11 | GPIO_30 GPIO 60| P9_12
| NC
UART4_TXD P9_13 | Gpio_31 GPIO 40 P9 14
- NG P9 15 |GPiO_48 GPIO 51/ P9 16 =
P9 17 P9 18
NC GPIO_4 GPIO_5 NG
NG P9.19 lipco scL 12c2 SDA[ P9 20 | \<
UART2_TXD P9 21 | Gpio_3 GPIO_ 2| P9 22
POWER2 P9_23 |GpIo_49 GPIO_15| P9 24
POWERL P9 25 |GPIO_117  GPIO_14| P9 26
P9_27 P9_28
NG GPIO_125  GPIO_123 NC
P9_29 P9_30
NC GPIO_121  GPIO_122 NG
NCl— P93l IGPIO 120 VDD _ADC| P932 |\
NG L P9_33 | ANg GNDA_ADC | P9 34 |\
P9 35 | AING AIN5 | P9_36
NC NC
P9_37 | AIN2 AIN3 | P9_38
NC NC
P9 39 | AIND AIN1 | P9_40
NC—pg a1 P9 42 |\C
NC GPIO_20 GPIO_7 NG
P9_43 | pGND DGND| P9_44
P9 45 | peND DGND |_P9_46
Cl  470pF
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